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BESE–141 : ICT IN EDUCATION 

 Time : 3 Hours    Maximum Marks : 100 

Note : All three Sections are compulsory. Answer 

any two questions from Section A, any four 

questions from Section B and any two 

questions from Section C.  

Section—A 

Note : Answer any two of the following questions in 
about 500 words each. 2×20=40 

1. What do you mean by Information and 

Communication Technology (ICT) ? Discuss the 
applications of ICT in education. 
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2. Explain the concept of Open Educational 
Resources (OERs). How are OERs created and 
shared ? 

3. Discuss the rationale for using ICTs for 

assessment. Discuss the ICTs used for self and 
peer assessment. 

4. Explain the characteristics of Self-Learning 
Materials (SLMs). 

Section—B 
Note : Write short notes on any four of the 

following within 250 words each. 4×12=48 

5. Barriers to Communication. 

6. Good practices of using computer. 

7. ICTs for self-learning. 

8. Barriers to ICT integration. 

9. Purpose of Management Information System 
(MIS). 

10. Types of Assistive Technologies (ATs). 

11. Importance of storyboard for the development 
of audio-visual resources. 
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Section—C 
Note : Write very short notes on any two of the 

following within 125 words each. 2×6=12 

12. Instructional delivery in blended learning. 

13. SWAYAM as an ICT initiative. 

14. Benefits of ICTs in teaching-learning. 

15. Use of Blog for assessing collaborative learning. 
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Lukrd dyk (lkekU;) 

(lh- ch- lh- ,l-) (ch- ,- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-,l-bZ--141 % f'k{kk esa lwpuk ,oa lEizs"k.k 

izkS|ksfxdh 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh rhu [k.Mksa ds iz'uksa ds mÙkj nsuk vfuok;Z gSA 

[k.M v ls fdUgha n k s] [k.M c ls fdUgha p kj 

,oa [k.M l ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

[k.Mµv 

uk sV % fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj (izR;sd 

yxHkx 500 'kCnksa esa) nhft,A 2×20=40 

1- lwpuk ,oa lEizs"k.k izkS|ksfxdh (vkbZ- lh- Vh-) ls vki 

D;k le>rs gSa \ f'k{kk esa vkbZ- lh- Vh- ds vuqiz;ksx 

dh ifjppkZ dhft,A 
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2- eqDr 'kSf{kd lalk/uksa (vks- bZ- vkj-) dh vo/kj.kk 

dh O;k[;k dhft,A vks- bZ- vkj- dk fuekZ.k ,oa 

vknku&iznku fdl izdkj fd;k tkrk gS \ 

3- vkdyu ds fy, vkbZ- lh- Vh- ds iz;ksx ds 

rdkZ/kj@ewyk/kj (js'kuys) dh ifjppkZ dhft,A Lo 

,oa lelewg vkdyu (lsYiQ ,.M ih;j vlslesaV) 

ds fy, iz;ksx dh tkus okyh vkbZ- lh- Vh- (lwpuk 

,oa lEizs"k.k izkS|ksfxfd;ksa) dh ifjppkZ dhft,A 

4- Lo&vf/xe lkefxz;ksa (,l- ,y- ,e-) dh fo'ks"krkvksa 

dh O;k[;k dhft,A 

[k.Mµc 

uk sV % fuEufyf[kr esa ls fdUgha pkj ij (izR;sd yxHkx 

250 'kCnksa esa) laf{kIr fVIif.k;k¡ fyf[k, % 

4×12=48 

5- lEizs"k.k@lapkj ds vojks/ (cSfj;lZ)A 
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6- dEI;wVj iz;ksx djus ds vPNs laO;ogkjA 

7- Lo&vf/xe ds fy, vkbZ- lh- Vh- (lwpuk ,oa 

lEizs"k.k izkS|ksfxfd;k¡)A 

8- vkbZ- lh- Vh- ,dhdj.k ds vojks/ (cSfj;lZ Vw vkbZ- lh- Vh- 

bUVhxzs'ku)A 

9- izcU/u lwpuk iz.kkyh (,e- vkbZ- ,l-) dk iz;kstuA 

10- lgk;d izkS|ksfxfd;ksa (,- Vh-) ds izdkjA 

11- JO;&n`'; lalk/uksa (vkWfM;ks&fotqvy fjlkslsZt) ds 

fodkl ds fy, LVksjhcksMZ dk egRoA 

[k.Mµl 

uk sV % fuEufyf[kr esa ls fdUgha nks ij (izR;sd yxHkx 

125 'kCnksa esa) vfr laf{kIr fVIif.k;k¡ fyf[k, % 

2×6=12 

12- fefJr vf/xe (CysUMsM y²ux) esa vuqns'kukRed 

forj.k (bULVªD'kuy fMfyojh)A 
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13- vkbZ- lh- Vh- miØe.k (vkbZ- lh- Vh- buhf'k,fVo)

ds :i esa Lo;a (,l- MCY;w- ,- okbZ- ,- ,e-)A

14- f'k{k.k&vf/xe esa vkbZ- lh- Vh- (lwpuk ,oa lEizs"k.k

izkS|ksfxfd;ksa) ds ykHkA

15- lg;ksxh vf/xe ds vkdyu ds fy, CykWx

dk iz;ksxA

× × × × × × × 
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